
1 2 3 4 5 ��ก	

��	
����	�

��	����� �����
����

���	���ก������� 1 ����� 	�!
�"��#��� 25

��"�	

$%�	����!&�'���
	(ก	
 

1 �������	
��	
������������
���������
���	���ก��ก	����� 
!"	�
	�#	
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3 1 2 3 4 5 4.5270 4.5270 0.2264
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 ��	
!"	�
	� $��%�ก	���	
�'��	�#	

$%�� )34	�#�5����6����7�������	�

2 1 2 3 4 5 5 5 0.1667
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3.1 ��	���%��	��'(	ก	�)�����
ก����
;	����
7�����!<==	

�	�')�	������$ก��

2.5 1 2 3 4 5 5 5 0.2083

3.2 ��	���ก'�ก��
��'ก	�
('�� ก 
(Proactive Service)

2.5 1-2  3-4  5-6  7-8  ≥ 9 9 5 0.2083

8 ������
������������	���ก���ก	����� 

!"	�
	�#	
#��(�����ก	�#���!��

'�
� 6M	9M	��� !8ก	�4Nก:	 2552

15 1 2 3 4 5 4.79 4.79 1.1975

�������  2  ����� 	��),5	-ก	
4� '
�ก	
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9 �������	
9N�9������%7������'ก	�$��
� ��	ก�  (���	���ก������ 9)

9.1 ��������	
9N�9������%7������'ก	�$��
� ��	ก�

3 65 70 75 80 85 85.13% 5 0.2500

9.3 ��������	
9N�9���$����	
%	� ก���
� ��	ก��	������� �

3 65 70 75 80 85 80.13% 4.026 0.2013

9.4 ��������	
9N�9���#���)�	)$�� 3 65 70 75 80 85 86.66% 5 0.25009.4 ��������	
9N�9���#���)�	)$��
���	)������6�ก��
ก	�!����	�6�

3 65 70 75 80 85 86.66% 5 0.2500

หนาที่ 1



1 2 3 4 5 ��ก	

��	
����	�

��	����� �����
����

���	���ก

��	0
��)

���(�����
���	 

���ก


ก,23ก	
4� �����

6

10 �������	
��	
������ก	��� ��ก:59����	�
 (���	���ก������ 2)

10.1 ก	�ก�	���
	#�ก	���ก	��� ��ก:5
9����	�

1 1 2 3 4 5 5 5 0.0833

10.2 ก	��6���5���
��'
���
�ก	�!&'��#'#	


	#�ก	���ก	��� ��ก:59����	�

1 1 2 3 4 5 5 5 0.0833

11 �����������#�	ก	�
�'ก��	�
�'�
��!��
	6$%���'�

1 70 75 80 85 90 98.36 5 0.0833

12 �����������#�	ก	�
�'ก��	�
�'�
��!��
	6
�'��	�P��#	
$%�

2 70 75 80 85 90 85 4 0.1333

13 �������	
��	
������ก	��(�)��9�	ก�
���
ก��

1 1 2 3 4 5 5 5 0.0833
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14 �������	
��	
������ก	�ก�	ก���7$�
���5ก	�)��������6�ก��
ก	�!����	�6�
 (���	���ก������  4)

14.1 ���������ก	����!��( 

�6�ก��
ก	�#	
$%�

1 75 80 85 90 95 100 5 0.0833

14.2 ����������6�ก��
ก	�)��
��	���

!��( 


1 60 65 70 75 80 82.05 5 0.0833

14.3 
�ก	�
%�$9���	��	�ก	�!��( 

$��
#'ก	�!��( 
����6�ก��
ก	�
!����	�6����� ��	ก�$��%7�
�����P������

���P�����)�	�
!Q�!����	$��#��
�R���
%�	�(���)	�#�	�S

1 0 0 1 2 3 3 5 0.0833

14.5 
�ก	�)�)����
���� !��ก	4 
���ก
ก6T5ก	���'�	����ก	�#�	�S���
�6����
�
	��
$��)���
��
�
�

1 0 - 1 - 2 2 5 0.0833

15 �������	
��	
������ก	����)�	�	��	�
���
7�
9R��ก	���'�	����ก	����5ก� 
(���	���ก������ 5)

15.1 �������	
��	
������ก	����)�	
�	��	�!����	!8

1 1 2 3 4 5 5 5 0.0833
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15.3 �������	
��	
������ก	��	��	�
���
7�)	�ก	�
�'�

1 1 - - - 5 5 5 0.0833

15.4 �������	
��	
������ก	��	��	�
%�ก	�!&'��#'�	(ก	�!����	!8��!��
	6
 9.4.2552

1 1 2 3 4 5 5 5 0.0833

15.5 �������	
��	
���������)�	�	��	�
ก	�!��

'�#�
�� (SAR) 
!8ก	�4Nก:	 2552

2 1 2 3 4 5 5 5 0.1667

16 �������	
��	
������ก	�9�W�	��	����7�
�	ก�

1 1 2 3 4 5 5 5 0.0833

17 �������	
��	
������ก	���	
�'��	�#	

����#��ก	�9�W�	� 6M	9ก	���'�	�
���ก	�M	���;  
(���	���ก������ 10)

������ก��	
���ก
���������  PMQA
 ������������                 (�������ก
������ 6)������ 6)

�
�� 3 ก	������	
��	��=ก��
%7������'ก	�$��%7�
�����P������
���

1.50 1 2 3 4 5 100% 5 0.1250

�
�� 4 ก	���� ก	��'
��	��5$��ก	�
���ก	���	
�7�

1.50 1 2 3 4 5 100% 5 0.1250

�
�� 5 ก	�
 ��
���)��9�	ก�� ��� 1.50 1 2 3 4 5 100% 5 0.1250

�
�� 6 ก	����ก�����ก	� 1.50 1 2 3 4 5 100% 5 0.1250

!"�#!��$�"�%�&'	���(��
�&!�ก�� )* 2553

1 0 1 2 3 5 5 5 0.0833

!"�#!��$�"�%�&ก�������.�&��
/�#'	���(���&!�ก�� )* 2553

1 0 1 2 3 5 5 5 0.0833

	����0�ก�������.�&��/�#
'	���(���&!�ก��                
(�������ก������ 2)

�
�� 3 ก	������	
��	��=ก��
%7������'ก	�$��%7�
�����P������
���

0.50 1 2 3 4 5 5 5 0.0417

�
�� 4 ก	���� ก	��'
��	��5$��ก	�
���ก	���	
�7�

0.50 1 2 3 4 5 5 5 0.0417

�
�� 5 ก	�
 ��
���)��9�	ก�� ��� 0.50 1 2 3 4 5 4.75 4.75 0.0396

�
�� 6 ก	����ก�����ก	� 0.50 1 2 3 4 5 5 5 0.0417

60 4.8397

หนาที่ 3


